

Bessel Functions, Recursion and a Nonlinear Field Equation

Willi-Hans Steeb^{a,b}, Yorick Hardy^a, and Ruedi Stoop^{a,b}

^a University of Applied Sciences, Solothurn, Switzerland

^b International School for Scientific Computing
at Rand Afrikaans University, P.O. Box 524,
Auckland Park 2006, South Africa

Reprint requests to Prof. W.-H. St.; E-mail: whs@na.rau.ac.za

Z. Naturforsch. **56a**, 710–711 (2001);
received August 13, 2001

We show that particular solutions of certain nonlinear field equations can be constructed using Bäcklund transformations, recursion and Bessel functions.

Key words: Bessel Function; Thirring Model; Bäcklund Transformation.

It is well-known that the modified Bessel differential equation [1]

$$\frac{d^2 w}{dr^2} + \frac{1}{r} \frac{dw}{dr} - \left(1 + \frac{n^2}{r^2}\right) w = 0 \quad (1)$$

admits as solution the modified Bessel function

$$I_n(r) = \left(\frac{1}{2}r\right)^n \sum_{s=0}^{\infty} \frac{\left(\frac{1}{4}r^2\right)^s}{n! \Gamma(n+s+1)}. \quad (2)$$

The modified differential equation (1) also admits the Macdonald's function as a solution. This solution is not considered here. The modified Bessel function I_n satisfies the recurrence relation [1]

$$I_{n+1}(r) = -\frac{n}{r} I_n(r) + \frac{dI_n(r)}{dr}. \quad (3)$$

Thus, if $n=0$ we have $I_1 = dI_0/dr$ and for $n=1$ we have

$$I_2 = -\frac{1}{r} I_1 + \frac{dI_1}{dr} = -\frac{1}{r} \frac{dI_0}{dr} + \frac{d^2 I_0}{dr^2}. \quad (4)$$

For $n=0$ the modified Bessel differential equation (1) takes the form

$$\frac{d^2 w}{dr^2} + \frac{1}{r} \frac{dw}{dr} - w = 0. \quad (5)$$

The Riccati differential equation

$$\frac{d\Phi_1}{dr} + \frac{1}{r} \Phi_1 = 1 - \Phi_1^2 \quad (6)$$

is a nonlinear differential equation of first order and can be linearized using the transformation [2]

$$\Phi_1 = \frac{1}{w} \frac{dw}{dr}, \quad (7)$$

where w satisfies the modified Bessel differential equation with $n=0$. Thus

$$\Phi_1(r) = \frac{I_1(r)}{I_0(r)} \quad (8)$$

is a solution of the Riccati differential equation. We can now use the relations to construct solutions of certain nonlinear field equations which admit Bäcklund transformations [3].

As an example we consider the nonlinear complex field equation [4]

$$\Delta \psi + \frac{(\nabla \psi)^2 \bar{\psi}}{1 - |\psi|^2} + \psi(1 - |\psi|^2) = 0, \quad (9)$$

where $\Delta := \partial^2/\partial x^2 + \partial^2/\partial y^2$. Equation (9) admits the Bäcklund transformation

$$i \frac{\partial u}{\partial \bar{z}} + v - |u|^2 v = 0, \quad (10a)$$

$$i \frac{\partial v}{\partial z} + u - |v|^2 u = 0, \quad (10b)$$

when $z = (x - iy)/2$, $\bar{z} = (x + iy)/2$, and u and v satisfy (9). We have $\partial/\partial z = \partial/\partial x - i\partial/\partial y$ and $\partial/\partial \bar{z} = \partial/\partial x + i\partial/\partial y$. System (10) is the Euclidian version of the massive Thirring model [4]. The system of partial differential equations (10) can be derived from the Lagrangian [3]

$$\mathcal{L} = i\bar{u} \frac{\partial v}{\partial z} + i\bar{v} \frac{\partial u}{\partial \bar{z}} + |u|^2 + |v|^2 - |uv|^2 - 1 + c.c. \quad (11)$$

Inserting the ansatz

$$\psi(x, y) = \Phi_n(r) \exp(in\theta) \quad (12)$$

into the nonlinear equation (9), where r, θ are polar coordinates and Φ_n is real valued, yields

$$\frac{d^2 \Phi_n}{dr^2} + \frac{1}{r} \frac{d\Phi_n}{dr} + \frac{\Phi_n}{1 - \Phi_n^2} \left[\left(\frac{d\Phi_n}{dr} \right)^2 - \frac{n^2}{r^2} \right] + \Phi_n(1 - \Phi_n^2) = 0. \quad (13)$$



Let $u = -i\Phi_{n-1} \exp(i(n-1)\theta)$ and $v = \Phi_n \exp(in\theta)$. Then we obtain the equivalent system

$$\frac{d\Phi_{n-1}}{dr} - \frac{n-1}{r} \Phi_{n-1} + \Phi_n(1 - \Phi_{n-1}^2) = 0, \quad (14a)$$

$$\frac{d\Phi_n}{dr} + \frac{n}{r} \Phi_n - \Phi_{n-1}(1 - \Phi_n^2) = 0, \quad (14b)$$

where Φ_n and Φ_{n-1} satisfy (12) with n and $n' = n-1$, respectively. For $n=1$, (14a) is solved by $\Phi_0 = 1$. For this case (14b) takes the form of the Riccati equation (6), which admits the solution (8). Since

$$\begin{aligned} \Phi_{n+1} &= \frac{-1}{1 - \Phi_n^2} \left[\frac{d\Phi_n}{dr} - \frac{n}{r} \Phi_n \right] \\ &= \Phi_{n-1} - \frac{2}{1 - \Phi_n^2} \frac{d\Phi_n}{dr}, \quad n = 1, 2, \dots, \end{aligned} \quad (15)$$

we obtain

$$\begin{aligned} \Phi_2 &= -\frac{I_0 I_2 - I_1^2}{I_0^2 - I_1^2}, \\ \Phi_3 &= \frac{(I_3 - I_1)(I_0^2 - I_1^2) + I_1(I_0 - I_2)^2}{(I_0 - I_2)(I_0 I_2 - 2I_1^2 + I_0^2)}, \end{aligned} \quad (16)$$

and so on, where we have used relation (3).

- [1] F. W. J. Olver, *Asymptotics and Special Functions*, Academic Press, Boston 1974.
- [2] W.-H. Steeb, *Problems and Solutions in Theoretical and Mathematical Physics*, Volume I, World Scientific, Singapore 1997.
- [3] W.-H. Steeb, *Continuous Symmetries, Lie Algebras, Differential Equations and Computer Algebra*, World Scientific Publishing, Singapore 1998.
- [4] E. A. Kuznetsov and A. V. Mikhailov, *Theor. Math. Physics* **30**, 303 (1977).